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2AM: ZAD

M SAONY

SHelr TAINES HMAR 2 (SHel: @)
= _ = d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S A 22,606,471 17,598,824 5,007,647
2 10,500,000
Al 12,106,471
SANY 21,916,138 17,361,388 4,554,750
2 10,500,000
Al 11,416,138
SAHE HAE 22 74,898 242,788 £ 167,890
SANHSANEZE HAUPSRAHE 8 69.858 37,748 32,110
201 Yer2 A Y| 69,858 37,748 32,110
01 At 22l 49,858 37,748 12,110
OLYRANZAHERARNE AL 13,090
Oger4gH 26,698
OHRETAZHEZH (FUSFU22DIR) 10,070
02 2224 20,000 0 20,000
OZANHEH LA AL KX 22 20,000
HLHLAGIER L CARHE LY SN 5,040 5,040 0
202 04l 5,040 5,040 0
01 SLHOIHI 5,040 5,040 0
OMgae ¥ SANEAR =& 5,040
SADIBHAIE B35 19,835,000 17,115,600 2,719,400
=) 10,500,000
Al 9,335,000
SANN2Y(E - 42) HHIAIY 7,150,000 4,590,600 2,559,400
401 Al EHIZL 2 THHI 7,150,000 4,590,000 2,560,000
01 A& HI 7,105,045 4,558,410 2,546,635
OME =2 H&Z A 1,100,000,0002 *99. 64% 1,096,040
O2SLHOITIE & =2 HESA
550,000, 0002 *99. 37% 546,535
OZELY 2 WEBAM
400,000,000 *99. 28% 397,120
O2&1-58(3XP) 42 HEZA
100,000,000 *99. 10% 99,100
OZAH0E 42 HEZSA
450,000,000 *99. 28% 446,760
ONSFIUE ~ BEAE 2t AZHESA
300,000, 0002 *99. 28% 297,840
OSE1-42(HFAHY ¥)42 HESA
700,000,000 *99. 37% 695,590
OSYL(SENS &) 42 HEIA
600,000,0002 *99. 37% 596,220
OFIN2ZL A2 HEBA
500,000,000 *99. 28% 496,400
OdY22 A2IWLSA 200,000,000 *99. 28% 198,560




2AM: ZAD

M SAONY

Sl SADIBAE BE (29l 8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ol SEFXUE & 22 HESA
150,000, 000& %99.28% 148,920
OSAl Ol 2AIE HHIAY
25,000,000& * 1204 2~ *99. 28% 297,840
OFIIOIEY ZAHEAE 2X0H=
150,000, 000& *100% 150,000
OE2FX FUIAY
30,000,000& *10J4 2~ *99. 28% 297,840
OAIDJHAI e1&EFHIALY
20,000,000& *15J4 2~ *99. 28% 297,840
O&%=22 =2 ML 2 A 450,000,000 *99.28% 446,760
O2=s sd2Z 42 HE3M
150,000, 000& %99.28% 148,920
Ogniel ~ Ag2t 2 HESA
450,000,000& %99.28% 446,760
03 Al 2 0HHI 44,955 31,590 13,365
OMHEH =2 HE3A 1,100,000, 000& *0. 36% 3,960
O3 SLHOIIE & S22 W& S At
550,000,000& *0.63% 3,465
OZdEZ =2 MEZA
400,000,000 *0.72% 2,880
OZd 1.58(BXF) &2 MHAZA
100,000, 000& *0.90% 900
OXA108 42 WA S A
450,000,000 *0.72% 3,240
OMEFIE ~ SEAE 2t £Z HESA
300,000,000& *0.72% 2,160
OSE1 - 4Z (MY &) A2 HESAM
700,000,000& *0.63% 4,410
OsgZ (513 &) 42 HESA
600,000,000& *0.63% 3,780
O&NH2d A2 A3 AL 500,000,000 *0.72% 3,600
OZdg2ad A2 WA S A 200,000,000 x0.72% 1,440
OEASEFXE & 42 HE3AM
150,000,000& *0.72% 1,080
O&%=22 =2 ML A 450,000,000 *0.72% 3,240
O23 s&2Z A2 HESAM
150,000,000& *0.72% 1,080
Ogniel ~ Ag2t 2 HESA
450,000,000 *0.72% 3,240
OAIJHAI &= ZHIAHY
20,000,000& *15J1 2%0.72% 2,160
OZAIDIZ2AIE EBIALS 2,160,000 2,160
OE2F=x FHlAY
30,000,000& *10JH 22+0.72% 2,160
orMst SEdEd =4 2,000,000 1,225,000 775,000
& 1,000,000
Al 1,000,000




2AM: ZAD

M SAONY

S TADIBAIE BE (22 &d)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
401 AIEHIZ 2 CHYI 1,250,000 1,200,000 50,000
& 1,000,000
Al 250,000
01 Al £ HI 1,245,500 1,195,680 49,820
Ootde 2aigtd ZgAeY
1,250,000,0002! *99. 64% 1,245,500
& 996,400
Al 249,100
03 Al 2 THHI 4,500 4,320 180
Octdst 2aiatd TdAE
1,250,000, 000 %0.36% 4,500
= 3,600
Al 900
403 TtXI M SA=01A 750,000 25,000 725,000
02 S| 2 S0l CHEHCH & AH B 750,000 25,000 725,000
Octdst 2aiatd TdAE 750,000
NY ST XX A 9,500,000 10,000,000 A500,000
= 9,500,000
401 AlE I 208 9,500,000 10,000,000 500,000
= 9,500,000
01 A€l 9,476,250 9,975,000 A498,750
OMNLETX 7 JIELAIE ALY
9,500,000,000& *99.75% 9,476,250
Z 9,476,250
03 Al& = 0 Bl 23,750 25,000 21,250
OMNL=ETX 7 JIELAIE ALY
9,500,000,000& *0.25% 23,750
Z 23,750
AMEX T SAHEAY 1,000,000 0 1,000,000
401 Al HIZ 208 700,000 0 700,000
01 Al&HI 695,590 0 695,590
OUMEX 7 SANL(S2HE )AL
700,000,000 *99.37% 695,590
03 Al& 2 i1 4,410 0 4,410
OAMEX 7 SAMNL(S2HE )AL
700,000, 000& *0.63% 4,410
701 JIEtBIHE ES 300,000 0 300,000
01 JIEtRIHE ES 300,000 0 300,000
OMEXN T TANEAMY SEIAHNTES 300,000
BLUSHSALEZSALHE (BDE TSR 0/F) 185,000 0 185,000
401 AlEHIZ 208 185,000 0 185,000
01 A€ dl 183,668 0 183,668




2N
X ZH -
L= B

el

S A2
S ADHE
SADIEAIE =

o

- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
Ostus HMBANE(B2SE2X 0/8)THANY
185,000,000 x99 . 28% 183,668
03 AlIE 21| 1,332 0 1,332
Ostus MBANE(B2SZX 0/8)THANY
185,000,000 *0.72% 1,332
Alg 22 Ard e 2,006,240 3,000 2,003,240
QBEAAST] XM 2,003,240 0 2,003,240
202 o4l 3,240 0 3,240
01 2Ll 3,240 0 3,240
Ol ES HREX 3,240
401 AlEHIZ 2 0HY| 2,000,000 0 2,000,000
01 Al& H| 1,992,800 0 1,992,800
OY® AP AT ESAY
2,000,000, 000 x99 . 64% 1,992,800
03 AlE 20| 7,200 0 7,200
OY® AP HAST ESAY
2,000,000,0002 x0.36% 7,200
S2HK ZEAYE 3,000 3,000 0
203 € R =& 3,000 3,000 0
03 AIEH =X 2 F X Y| 3,000 3,000 0
OZAN} g2F& 3,000
SASEH N 3,240 3,240 0
STAEXIH2 3,240 3,240 0
=2ZA X4 XS 3,240 3,240 0
202 04d| 3,240 3,240 0
01 2Ll 3,240 3,240 0
OTL&EXH =X0H| 3,240
SHESAAH (S AL 47,093 43,446 3,647
olaA2AY| (S Al D) 26,121 23,524 2,597
ol 2| (S AlDH) 26,121 23,524 2,597
101 @121 | 26,121 23,524 2,597
03 RINHAZ2 2 XNHE %= 26,121 23,524 2,597
O UAPEX(SAJIEIAIE 22/1Y) 26,121
ez 1,015,740& ~12& 12,189
PO = 12,188,880 /12 *400% 4,063
WESE X&H| 120,000 x12& 1,440
HHZAH| 130,000 x12& 1,560
A2 2R 4
5,985% x15A| 2t*1 58 x12& 1,616
HESIHH| (A&, =4) 1,015,740& x120% 1,219

_4_




ot

A

2N
X ZH -

el

o o o o o (] o o o o o o o o o o
[Te) [Te) Y] [Te) o) o) [Te) [Te) o o o
Sle|e S SN IS SO I = S |S
=+ — — — — (o)) (o)) (o)) o o o o
no T S| F o= S | S
Ko S SIS g ol et
E
£
[QV) [QV) <t < o [eo] [e0) o o o o o o o o o
[aN] [aN] © © o Yo Yo} o o Lo L0 Yo} Yo}
D ()] ™ [eV) — [ep] ™ [eV) [eV) N~ N~ N~ N~
o |o|o|c o ~ | < | < sl|lslols
TED A Q|22
[e]
uilEd
RS
(o)) o o Ye) [eV] [eV) <t <t o [aN) Al (e) (@) (@) [ee] [o0) [e 6] o o o o o o o o o o o o
N~ <t o — N~ N~ — © <t D [ap) [Ye) Y] Y] o) o) Ye) o o o o o o o o o o o o
S S~ da|a|le|lv|d S e - Sloleoe|dldd|Ss|S5|aled S(S|8 S
— — — o o ()] © o — — o ™ ™ [ [ N~ < < <t o o o o o o o o o
[qV] [eY) <t < <t < < < o o O
(<o) (<o) (<o) — — — [Ye) [Ye) [Ye)
aor
<
=)
all m o~ o i S
o Y N ~ <
x I* M. _.:u_ *x x *x
T 5 o % 2|
L E S oo = w8 T
8 |~ S m = 2 o 20
M S g o & 8 k8| |m
1 Fe) N] o o O
= o N = M8 |0
F 2 i 2 o 2w
c— =3 ! T ! T
= ) A m 2 m =
: z v @ _ s Rl I e
= o o N 7l = LD )
H s =« o ok i K OF wler X e ©
F |05 = r =0 o+ @ |2 |= ™ 2 |R M
S ~ ||z R W - M = S |sl 30 Blr |t T |+ &
S (RN A el R I e - A B T AR |8 0B il = W =
I TR m | & & O oy M W SR K KR o e B no|m ar
Rl PR N L =l = e R I T B R al |-
&0 dis|an|z O O O ™ O S Ola |k O|5|<|0|®R|= O % | O
. o R | = | = N ol | — o | < Z || = - | — | o
x O TR R < & |° & |° W= %o S
i TR wR | R
~ o | ™
=




